SB-H-S2000/10W3 STEALTHBOX™
Honda S2000

JL AUDIO

Installation Guide:

This Stealthbox is a product which requires professional installation skills and tools. Please read this
installation guide thoroughly before beginning the project. It will guide you step by step through the
installation. Several of the steps in this process may require two people to accomplish.

It is absolutely vital that the enclosure be properly mounted to the vehicle according to these instruc-
tions. Failure to mount the enclosure properly presents two problems: 1) The sub-bass performance
will suffer due to the movement of the enclosure caused by the force exerted by the woofer and 2) A
loose enclosure presents a serious safety hazard in the event

of a collision or sudden deceleration.

STEP 1: Using a panel tool, remove trunk carpeting.

STEP 2: When all carpet is removed there are two plugs
that are visable. Remove these plugs by cutting the glue.

STEP 3: At this time run your speaker wire. Reinstall trunk
carpeting.

STEP 4: With carpet reinstalled poke an awl though the
carpet from the underside of car.

SB-H-S2000/10W3, JL AUDIO, Inc 2001 - Page 1 Sheet SKU#011155 Revision 10/5/01



STEP 5: Locate holes from inside the trunk. Using a carpet
knife, cut holes into the carpet.

S -

kil | "I:t"'__;*r-ﬂ-.i- x

= o e et

STEP 6: Connect the speaker wire and place the Stealthbox in
the well, making sure that no speaker wire is trapped under the
enclosure. Test the enclosure at this point.

STEP 7: From underneath the car, insert two 3/8" bolt, lock
washer, fender washer through the hole in the sheet metal into
the threaded insert molded into the Stealthbox. Before tighting
place a generous bead of silicone sealant between the fender
washer and the sheet metal of the car, to prevent moisture from
entering trunk.

Threaded | t
Enclosure Wall (fiberglass) |v|c§| ded intgser

Enclosure

Flat Washer = ~ Vehicle's Sheet M1

Lock Washer «~ Bead of Silicone Sealant

3/8" Bolt -~ ~

SB-H-S2000/10W3, JL AUDIO, Inc 2001 - Page 2 Sheet SKU#011155 Revision 10/5/01



STEP 8 : Place the new cargo well cover/grille into the vehicle.

This completes the installation.

Parts list:

One Stealthbox loaded with one JL Audio 10W3-D6 subwoofer.
One custom grille to replace factory well cover.

Two 1 1/4"long 3/8" bolts

Two 3/8" fender washers

Two 3/8" lock washers

Specifications:

e Driver: 10W3-D6

* Enclosure type: Sealed

* Power handling: 250 Watts Continuous
» Final Impedance: 3Q

: [ T 0.

A\

JL AUDIO

10369 N. Commerce Pkwy, Miramar, Florida 33025-3921 Voice: (954) 443-1100 Fax: (954) 443-1111

SB-H-S2000/10W3, JL AUDIO, Inc 2001 - Page 3

Sheet SKU#011155 Revision 10/5/01



